
660 RALLYE FACTORY REPL. 2006 <2006><EU><9799F9>
LIGHTING SYSTEM

2447

Pos Part Number Description Additional Text Quantity

1 58414001000 HEAD LIGHT TRIOM CPL. '96 1.00

3 54611038012 BULB HS1 12V 35/35W WHITE SOCKET PX43T 2.00

4 49011435100 BULB 12V 5W (W2,1X9,5D) PHIL. 10.00

5 0015060303 HH COLLAR SCREW M 6X30 SW=8 LC4, LC4 SM, DUKE 2.00

6 0021060003 Washer DIN9021-A 6.4 ONLY USA 4.00

7 41001052000 RUBBER SLEEVE D=12MM 4.00

8 56530060050 SPACER BUSHING 6X12X20 ALU 2.00

9 0021050003 washer DIN 9021 A - 5.3 0.00

10 58512091200 CARRIER FOR TRIOM HEAD L. 2001 1.00

14 58514046000 REAR LIGHT BRACKET 2.00

15 0981350133 SHEET MET.SCR.DIN7981-3,5X13 4.00



17 58311049007 TENSIONING SPRING 1 X 12 X 35 1.00

18 58512006100 BUSHING SLEEVE COVER FRONT 04 1.00

19 0738060301 COU.SUNK SCR. AH ISO7380 M6X30 1.00

20 58511099244 EXTRA REAR LIGHT LENS '97 2.00

21 0933050603 HH SCREW DIN0933-M 5X60 1.00

22 58511099200 WIRING HARNESS REAR LIGHT '99 4.00

24 58514004000 SOCKET FOR BRAKE LIGHT '99 4.00

26 58512091251 FLASHBACKPROTECTION HORIZ. 01 1.00

27 58512091250 FLASHBACKPROTECTION VERTI.2001 1.00

28 6899792 GRIP GLUE 1.00

28 6899785 LOCTITE 243 BLUE 5 ML 1.00

31 58311040000 REAR LIGHT CPL. CEV 358 '93 1.00

32 58311041000 LENS '93 1.00

33 58414042000 BULB 12V 21/5W (BAY15S)REINFO. 1.00

34 58011039000 SPACER BUSHING 6,5 X 8 X 7 2.00

35 31008060000 rubber grommet D=8mm open 2.00

36 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00

37 0985050003 Self locking nut DIN 985 M5 2.00

40 0797100003 LOCK WASHER DIN6797-J10,5 ZI 4.00

41 0125100003 washer DIN 125 A 10.5 ONLY FOR 640 DUKE 4.00

43 58514033000 FLASHER SUPPORT RALLYE L/S 01 1.00

44 58514034000 FLASHER SUPPORT RALLYE R/S 01 1.00

45 5841402500030 FLASHER CPL.FRONT L/S REAR R/S BLACK 2.00

46 5841402600030 FLASHER CPL.FRONT R/S REAR L/S BLACK 2.00

47 58414028000 FLASHER LENS L/S & R/S '98 ORANGE 4.00

48 44111015100 BULB 12V 10W (BA15S) 4.00

49 58414030000 HH COLLAR NUT M10X1,25 WS=13 MINI ADV. 4.00

60 44011076100 CABLE TIE 100/2,5MM BLACK 0.00

60 44011076200 Cable tie 200/4.6mm black 0.00


